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SECTION-1: PSYCHOLOGY
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Psychology may best be described

as the scientific study of ..............

(A) mental state, physical state
(B) thoughts, emotions
(C) behaviour, mental processes

(D) mental health, mental illness.

ThE ..voeennmassossos lobe is to hearing

as the occipital lobe is to vision.
(A) Cerebellum

(B) ‘Parietal

() Témporal

(D) Frontal.

Reflexes are usually controlled by

the :

(A) Hypothalamus
(B) Spinal Cord
(C) Frontal Lobe.

(D) Medulla.

PO



(A)_ K ICAE=E |
(B) QI  31fyTy
(C) WIAHE YT

(D) It SrfmH|

FIAYA TR oo TR o @
TTE WU B W S0 % wfE
2:

(A) fa=g

(B) fasss

(C) w&a: I

(D) IEUF HHIR

Je2 1()5-Series-A

(4)

Analysis of avoidance learning
suggest that many phobias are
acquired through ...........cocco.. ;
Conditioning.

(A) Classical conditioning
(B) Operant conditioning

(C) Intermittent

(D) Reinforcement.

The ability to learn by observing
a model or receiving instructions

without reinforcement is called

......................

(A) contingency
(B) Social learning
(C) Cognitive learning

(D) Instrumental learning.

Conditioned response may be

eliminated by withdrawing

reinforcement. This is known as

---------------------

(A) Extinction
(B) Discrimination

(C) Spontaneous recovery

(D) Stimulus generalisation.



7. " F FE wEr uftarfem faem o 7

Intelligence can be defined as :

gFal ®:

(A) 959 § w2 e = (A) Knowledge of many great
=t ' facts

(B) a0 ¥ 3%8 IF¥F Ww w (B) The ability to get good grades
HI grIar in School

(C) 38 9l sR&F W wF =i (C) All the factors that make one
F T A ¥ AT TR 4 person different from another

(D) 31 fadq 3R IV O HeR (D) The ability to think abstractly
cali el

and learn from experience.

8. feraror A= &ls 7 gwsar 9y | 8. Teaching is based upon mastery

st 2 of these areas :

(A) favara (A) Confidence

(B) s1f¥rerdt (B) Attitude

(C) |yegal w1 S | (C) Knowledge of concepts
(D) Afral (D) Personality.

9. T Tfaamg F T T F 9. Hermanin Ebbinghaus developed
yifits stegEa & faw awAe techniques for experimental study
fawfaa =i of e

- (A) Iy 3 fereqo (A) Learning and teaching
(B) gea 3R FAfvgfaar (B) Values and attitudf:s
(C) TR sy ardemsn (C). Behaviours and expectations

| (D) Memory and forgetting.
D) s ek fawgfdl |

P.T.O.
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10.

L.

12.

Children in the prcd';pemummi
P 3¢

stage have difficulty in taking

perspective of another person; this

is known as :

(A) Reversibility
(B) Egocentrism
(C) Animism

(D) Constructivism.

Psychologist who defined

educational psychology as a

science of education.
(A) Skinner

(B) Crow and Crow
(C) J.B. Watson

(D) Peel.

He is known for his research on

intelligence.
(A) Lewis Madison Terman
(B) Leona Tayler

(C) John Dewey

(D) Hermann Ebbinghaus.



13, N el g RLIR 13. Observational method takes place
(A) garTeEn under ;
B) I T (A) Laboratory
(© T feerfy (B) Quite places
(C) Natura] Conditiong
(D) Fraf feafa (D) Controlled Condifions,
14. HIHEHH s iR SLZDE 14. Cognitive psychology studies
RARE man’s :
(&) o (A) Thinking
(B) =14, st (B) Memory language
(©) W, wew (C) Perception imagery
D) SWHR # ¥ wf | (D) All of these.
15, @t ® ATER NNCICIO ?: 15.  Piaget’s stage for infancy is:
(A) 3ﬁwrﬁ$ i (A) Formal operation
(B) T whmarHs (B) Pre-operational thought
(C) wiafsw Uei (C) Sensorimotor thought
(D) 4d wfwamqes| (D) Concrete operation.
16. Tefafed ¥ € sH-m BRI B 16.  Which of the following is a part of
T g3 2?2 Psycho-social domain?
( A) wfa | (A) Memory
B) fifa (B) Judgement
©) et e (C) Motor skills
7, SHEEEC g Y (D) Style of behaving

PT.O.
7
J~2105-Series-A (7)
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(B) et arREd

(C) fawen que

(D) SWad ¥ ¥ Wi Tl

HAER ® JAWIT & AU ITAYh
dfre @R awgfee fafy @ ¢

(A) deror fafy
(B) e1q: faderor fafy

(c) wrafre fafy

(D) ofaw gad fafy
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17.

18.

19.

75l 8 X :‘{1‘.},;_ 2 B o
Educational Psych@it‘ig}’ gtudie:

pehaviour of learner it relation to

his/her :

(A) Educational environment
(B) Home environment

(C) Peer gathering

(D) In isolation.

One who is mainly responsible for

evolution of structuralism is :
(A) Edward Bradford

(B) J.B. Watson

(C) Wilhelm Wundt

(D) None of these.

Most scientific and objective

‘ method of studying behaviour is :

(A) Observational method
(B) Introspection method
(C) Experimental method

(b) Differential method.
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20.

21.

22,

According to Piaget, main goal of

education should be :

(A)

To help students how to learn

(B)

To change students behaviour

(C) To adjust the student with his

environment

(D) To bring change in student’s

attitude.

Sudden appearance of a response

after a period of extinction is

known as :

(A) Stimulus generalization

(B) Extinction
(C) Stimulus discrimination

(D) Spontaneous Recovery.

Most prominent member of Gestalt

Psychology :

(A) Kurt Koftka

(B) Max Wertheimer
(C) Wolfgang Kohler

(D) All of these.

P20
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23.

24.

25.

 1aead as a founder of
He 18 (:t,n‘xmdm(..d y

. ~ation and father
P 1ve edUCdtl
Progn e8s1v

! ation :
of research 11 educat

(A) E.L. Thorndike
(B) L.M. Terman
(C) Joseph Mayer Rice

(D) None of these.

For expressing ideas and asking
questions, categories and concepts

for thinking is :

(A) Language

(B) Logical reasqning
(C) Private speech

(D) None of these.

In any type of learning Gestalt

laid greater emphasis on role of :
(A) Reward and Punishment
(B) Past experiences

(C) Positive behaviour

(D) Motivation and definite goals

and purpose.
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28.

(11)

In experimental method we study
the :

(A) Environment’s relationships
with individuals

(B) Cause and effect relationship
(C) Reliability and Validity

(D) None of these.

Reinforcement is :

(A) An event that strengthens or

increases response

(B) Somethihg that iﬂdividual

finds pleasant

‘(C) Anything that decreases a

response
(D) An incentive.

Piaget called children self directed
talk as :

(A) Private speech

(B) Egocentric speech

- (C) Self talk

- (D) None of these.

P.T.0.
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D) W # ¥ ®E TR
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2.

30.

(12)

Educational pS}*ChOEE"ﬁ}‘“ Process,.,
a well organised systematic bod
of facts which 1s supported e
the:

(A) Biological laws and the

principles

(B) Laws and principles of nature
(C) Psychological

principles

laws and

(D) None of these.

According to Vygotsky cognitive
development depends on :

(A) Environmental processes
(B) Mental maturity
(C) Social interactions

(D) Genetics.



SECTION-I1 ; ENGLISH

Direction Q. Nos. 31 & 32 : Choose

34. ‘Satiate’
the synonym/nearness in meaning (A) glut
of the given word :
(B) satisfy
. ‘Audacity’
il . T HAGHETE (©) gratify
(A) meekness (D) dissatisfy.
(B) fearfulness 35. A word for “of one voice” is :
(C) humility (A) Anonymous
(D) boldness. (B) Unanimous
32.  ‘Congruous’ (€) Ambiguous
(D) Obsolete.
(A) concordant
36.  Lover of mankind is ;
(B) straightforward
(A) Misanthrope
(C) unfit
(B) Misogynist
(D) discordant. | (C) Philanthropist
Direction Q. Nos. 33 to 37 : Choose (D) Plagiarist.
th i : .
¢ antonym of the given words 37. The teacher ................... his
33.  ‘Dwindle’ students when the Principal
entered the classroom.
(A) decreas )
ase (A) Was teaching
(B) shrink (B) had been teaching
(C) grow (C) had taught
(D) encourage. (D) was taught.
J-2105-Series-A

(13) P.T.O.



Direction Q. Nos. 38 to 40 : Four

alternatives are given for the
idiom/phrase underlined in the
sentence. Choose the alternative
which best expresses the meaning

of the idiom/phrase and mark it in
the Answer Sheet.

38. When he saw her, he bit his lips.
(A) Felt sorry
(B) Wiped his lips
(C) Became angry
(D) Doubted her.

39. Even the opposition had a dig at

the government.
(A) Criticised
(B) Disagreed
(C) Appreciated
(D) Challenged.

40.  After he won the election his rivals

were in the.doldrums,
(A) In high spirits

(B) Inlow spirits
(C) Humiliated

(D) Incrisis.

J-2105-Series-A

Q. Nos. 41 & 42 : Arrange

jirection i
D f sentences in

the following parts O ,
a way to make complete and

meaningful sentences :

41. Long, long time ago
P Who lived with his virtuous

wife
Q In -a country called
Chinchinchoo

R There ruled a noble king
S And seven daughters
6. Pretty, graceful and well-

versed in fine arts.
(A) PSQR
‘(B) QRPS
(C) RPSQ
(D) SQRP.
42.  When I reached my office :

P To get home early

Q Iphoned my mother

R That I wouldn’t be able
S To tell her

6. AsIhad promised.

(A) PQRS

(B) QSRP

(C) RPQS

(D) SQPR.

(14)



Direction Q. Nos. 43 & 44 : Choose
the correct option :

43. Simile:Ascoolas..........
(A) Cucumber
(B) Ice
(C) water
(D) air.
44. Simile:Asbrittleas...................
(A) wood
(B) child
(C) glass
(D) thread.

Direction Q. Nos. 45 to 47 : Choose
proper verb that agrees with the

subject :

45. Noneofthegirls......c.cccceee. applied
for the job.

(A) have
(B) were
(C) has
(D) will.
46. Itisyouwho ............. my career ?
(A) has spoiled
(B) have spoiled
(C) was spoiling

(D) is spoiling.

J-2105-Series-A

(1

47,

Each boy and each girl ...
going to take part in the play.

(A) were
(B) have been
(C) are

(D) is.

Direction Q. Nos. 48 to 52 : Choose

the correct passive voice from the

given four options :

48.

49.

)

Did the king not slay his enemies?

(A) Was his enemies not slain by

the king?

(B) Were his enemies not slew by

the king?

(C) His enefiiies were not slain by

the king.

(D) Were his enemies not slain by

the king?
The bridge is building fast.

(A) Someone is building the
bridge fast.

(B) The bridge is being built fast.
(C) Fast is being built the bridge.

(D) None of the above.

P.T:0:
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50.

1e8.
(Children love to watch mov

(A} Movies are loved and watched

by children.

(B) Movies are watched with love

by children.

(C) Movies are being loved and

watched by children.

(D) Cflidten love movies to be

watched.
Who humiliated you in the party?

(A) Whom were you insulted in

the party?

(B) By whom was in the party
' insulted by you?

(C) By whom were you insulted in

the party?

(D) By whom you were insulted in

the party?

His behaviour has really amazed

us.

(A) We have really been amazed

by his behaviour.

(B) We have been really amazed

with his behaviour.

(C) We had really been apy, Zoq .

his behaviour,

(D) We have really been an,,,
at his behaviour.

Direction Q. Nos. 53 to 60 : Frqp,

the given four options choose th,

appropriate preposition :

53.

54.

565.

(16)

Worry iseating .............. his heart
(A) into

(B) at

(C) upon

(D) in.

My son goes to office ... . 9.30

bus.

(A) in

(B) on

(C) by

(D) through.

Choose the correct modal from the

given options :

Had I been in the class,I..............

have learnt the lesson.
(A) would
(B) should

(C) will

(D) must.



56. Which of the following pair is | 58. Khuswant Singh’s The Portrait of
correct? a Lady is a/an :
(A) Heis too gentle that he will not () Biographica] .
cheat you. (B) Autobiographical
(B) He is so gentle that he cannot (C) Drama
cheat you. (D) Epic.
(€) He i& too sentle 56 he will 89.  The past participle of ‘Breed’is :
cheat you. (A) Breeded
B) Bread
(D) Heis so gentle that he will not el B
cheat you. (C) Breed
(D) Bred.
57. ‘Scarcely had he seen his boss
............. > Complete the sentence : 60.  ‘She loves singing.’ "Singing’ here
isused as :
(A) When he ran away.
(A) Infinitive
(B) When he run away. (B) Participle
(C) Than he ran away. (C) Gerund
(D) Then he ran away. (D) Verb.
P.T.O.
J-2105-Series-A ELL)




61.

63.

SECTION-III : SOCIAL STUDY

wRq @ FeHd
(A) 3T Tl
(B) gciq 37!
(C) =l f&d
(D) . g

ﬁsaa?rnaﬁ_a@jvﬁawa 62.

(C) YISt wreft

D) e T,

J-2105-Series-A

________ 63.

(18)

61.

The ‘Birdman’ of India js .
(A) R. Rana

(B) Salim Ali

(C) Dr. Kiran

(D) J. Suryavanshi.

The World’s largest cold desert
is :
(A) Atacama

(B) Sahara

(C) Antarctica

(D)‘ Greenland.

In Jim Corbett National Part

.................... was launched ip -

(A) Project Tiger
(B) Project Bird
(C) Project Elephant

D) Project Coy,



64.

66.

J-2105-Series-A

A) fermen
(B) STAR

(©) g
(D) St

39 o Sl w1 M ARy fre

Fegad s & fau fean

(A) =

(B) Tferefial

(C) 9= a4

(D) S¥ R

‘arirE-T-fes! e ® e
(A) TAFEA

(B) Z=Ad

(C) areil

(D) 3TeFaT]

64.

65.

(19)

"fhe city of Lakes’ :
(A) Shimla

(B) Udaipur

(C) S‘urat

(D) Kochi.

4

Name the person who first used

‘the telescope to study objects in

the sky.

| (A) Newton

(B) Galileo

(®) James Webb =

(D) James Cook.

‘66. The Tahqiq~i_—ﬁind was written

by :

(A) Alberun:i.
(B) Ibn Battuta
(C) Babur

(D) Akbar..

PTO.



67. wfam ‘yedtos TEl' fREE FW [ 67,
fast T written by :
(A) ®fa TS (A) Kabi Raj
(B) 9% =¥sE (B) Chand Bardai
(©) fowm 2 (C) Vikram Dev
D) =tuer gl (D) Kapil Muni.

68. YW * fHg ww & Fw | 68. Surdas wrote poems in praise of

WA H wfaad foaeh? Krishana in :
(A) ST (A) Braj Bhasha
(B) 3194 (B) Awadhi
(C) 9&pa (C) Sanskrit
(D) %I (D) Urdu,
69. THY T T TYM TS 77 69. "The river Narmada has its
source at :
(A) FqYer
(A) Satpura
(B) Ta wiw
(B) Dal lake
(C) e
(C) Amarkantak
(D) ganfird

(D) Brahmagiri.

J-2105-Series-A (20)
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20, 70.  In which of the following state is

arl fod feum 22 the Similpal bio-reserve located?
(A) TS (A) Punjab

(B) feedt (B) Delhi

(C) St (C) Odisha

(D) "= =

(D) West Bengal.

71, WRdG H AT HI AN '/ [ 71 Mansoon arrives in India

g : approximately in :
A & gE A (A) Early May
(B) 5@ Y& ¥ (B) Early June
(C) o & H (C) Early July
(D) I & HI | (D) Early August.

. g . : | e a
77, frm o ¥ sH-mw s ddfew | 720 Which of the following 1s

(Ffm) Tm =2 synthetic fiber?
(A) = (A) Wool

(Bj: FUY (B) Cotton
(C) TrEerd (C) Nylon

: 5 | D) Silk.
(D) Ta&&|

pP.T.O.

| (21)
J-2105-Series-A



73.

74.

3.

J-2105-Series-A

. aret
Microwave d 9417 #i
feF Gl
containers T&Hd d

T ¥?
(A) HDPE
(B) PS
(C) PP

(D) PET.

(A) IgAVSHT q9HE

(B) =

(C) T

D) ¥4 & #i 7

Gl U TR T
(A) Favarg |

(B) T

© H
(D) 3ydtFa @t

73.

74.

75.

(22)

E
Plastic used for making Mé“fn

wave cooking container?
(A) HDPE
(B) PS

(C) PP

(D) PET.

A Barometer is an instrument
that measures :

(A) Atmospheric temperature
(B) Forice

(C) Valume

(D) None of these.

Sound can travel in’: -

(A) Solid

(B) Liquid

(C) Gas

(D) All of thege.



6. TE FE AU A ST wwy | ge

&'gﬁm%

D) ¥7H ¥ ®E T
77 el ARA e s
o "
(A) 1854
(B) 1864
(C) 1874

(D) 1884.

8. 1948 & oMeifuew o fasar 9arda | 78,

(A) &9 =T
(B) faym =

(C) go=g i

(D) ®wUxa 3ITY|

J-2105-Series-A ety

717.

Endocrine glands secretes

chemicals called -
(A) Enzymes
(B) Energy

(C) Hormone

(D) None of these.

Shimla became the Summer

Capital of India in :
(A) 1854

(B) 1864

(C) 1874

(D) 1884.

Winning caption of Indian Hockey

Team 1948 Olympics was :
(A) Dhayan Chand

(B) Kishan Lal

(C) Baljit Singh

(D) Kamal Uday.

PITO
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1
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51

(24)

79.

New Capital city of Andhraé
Pradesh is :

(A) New Hydrabad

(B) Amravati

(C) Raipur

(D} None of these

Which Country will host the 45th

il

G7 Summit 2019 ?
(A) France

(B) Germany

(C) Italy

A landmass bounded by sea on

three sides is referred to as -
1A} Peminsula
By Coast

{Cr Island

D} None of the above.
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83.

R4,

4210

5~Si‘l‘i95—:&

r U TET Fael # 9w o

T 87
(A) wifT & geEfa
(B) TTE N gEefy

() gt HT "

(D) T9H 9 ®HIE Tl

It s gfeor smfe o a9
el 7?2

(A) Ty

(B) &Y

(C) Sadfy

(D) w¥qsl

Tty & o= feg Im § WM

S ®?

(A) 3Tt

(B) ufy=dl =@
(C) femmgl

(D) g&f el

82,

83.

84.

(25)

Asteroids are found between the

orbits of :

(A) Saturn and Jupiter
(B) Mars and Jupiter
(C) The Earth and Mars

(D) None of the above.

The continent of North America

is linked to South America by :
(A) an Isthmus
(B) a Canal

(C) a Strait

(D) Sea.

Sahyadris is also known as
(A) Aravali

(B) Western Ghats

(C) Himadri

(D) Eastern Ghats.



35.

86.

87.

J-2105-Series-A

frei § @ PR wam § S
=3 e ® w9 § s e el
(A) Tt

(B) HiHe

(C) T2

(D) i

f=1 & wh-wm s don ss

o2

(A) ST
(B) =¥

(C) 3=

D) H & = T

‘qEitTeTy’ w1 feenm S9amn T
g1

(A) wifedal g
(B) =1 EW

(C) o= g

(D) gamfera g

86.

87.

(26)

Which one of the followi,,
industries uses bauxite as a g,

material?

(A) Aluminum
(B) Cement
(C) Jute

(D) Steel.

The king who played the

Veena?
(A) Samudragupta
(B) Harsha

(C) Ashoka

(D) None of these.

The Fort at Masulipatnam was

built by :

(A) French
(B) Dutch
(C) British

(D) Portugal.



89.

90.

forad SEENEH IR W ufeeqy 59
WE H 9IRGB % e el
(A) W=y

(B) aT&ht -

(C) W

(D) 379 ® HIE TN

FAFA h YR W 9Rd &1 fava
¥ wHE-9 W ??

(A) gr=En
(B) draen
(C) =ten

(D) el

J-2105-Series-A

88.

84.

90.

Who sail Westwards across the

Atlantic ocean to find a route to
India?

(A) Columbus

(B) Vasco da Gama

(C) Meghan

(D) None of these.

What is the ranking of India in the

World in terms of area?
(A) Fifth
(B) Seventh

(C) Fourth

(D) Ninth.

Untouchability is punishable
practice according to :
(A) Article-15

(B) Article-16

(C) Article-17

(D) Article-18.

PT.O.



4 7 | o1 Whowasthe Spesker of the,
. o ! '
o # FET%

9fic A S Lok Sabha?
(A) TTE, AT | (A) A.S. Ayangar
() Sl HEAHT . B) G.V. Mavalanker
(C) IaH (C) Balram
(D) T " (D) P.A. Sangma.

97, waufw ITER T UER frge | 92. Right to constitutional remedies
ST T R 7 | comes under :
(A) q&@ 3R (A) Fundamental Rights
5], ST R (B) Legal Rights
) SR T (C) Constitutional Rights
(D) Wiideh AfehR|

(D) Natural Rights.

93. WRd % Waled MG HI T | 93,  When was the Supreme Court of

FG H M oft? India established?
(A) 26 SHad 1950 (A) 26 Jan. 1950
(B) 20 el 1952 (B) 20 Jan. 1952
(C) 15 3= 1947 (C) 15 August 1947
(D) e 1948,

(D) August 1948,

J-2105-Series-A (28)



3
:
3
g
_!.1
%(
4
i
;

96.

*}fZIOS-Serie&A

TR S e Safym | o,
of] ?

(A) =TTF GuR

(B) g9 §UR

(C) B=-T gy

(D) fadta gum|

T W9 1 FEEA fma @ | o5,
27

(A) 2 =¥

(B) 6 o

C) 4 ¥d

(D) T ®W HI

VSN — 96.
(A) qETH
(B) =1PTQ
(C) ran
(D) qrrE

(29)

Sarkaria Commission

associated with :

(A) Judicial reforms

(B) Electoral reforms

(C) Centre-state relations

(D) Financial reforms.

was

The Rajya Sabha has a life

of :
(A) 2 years
(B) 6 years

(C) 4 years

(D) Permanency.

The ‘Dalal Street’ is situated in :

(A) Lucknow
(B) Agra
(C) Goa

(D) Mumbai.

pT.O.



97.

98.

99.

(D) IR T

i 1969 W fad dF TRIEHd

T A7
@) s
(B) TR®
(C) die

(D) =&

T Afeen fegw w0 wRn

ST 22

(A) 20 90
(B) 8 wrdf
€) 23 w1

(D) 22 #HE|

J-2105-Series-A
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(30)

97.

98.

99,

The panchayati Rajisa

tier system.
(A) One
(B) Two
(C) Three

(D) Four.

How many banks ar

Nationalized in the Year 1969
(A) 8
(B) 11
C) 14
(D) 24,

‘International Women’s Day’ is

observed on which date?
(A) 20 January
(B) 8 March

(C) 23 June

(D) 22 March.



101

102.

= gfem St 3 9Ra °® fyg
A W AT Ugelt heel enfig
@1 i?

(A) AEHIHR
(B) AsTH

(C) g
(D) wife= |

3 gutt @ TmgAl feaR &l

(A) T BLEaTS
B) #H.am. <™
(C) Tt zgm= ol

D) Mfig weaw

100. The oldest veda is :

101.

102.

2105 Series.A (31)

(A) Yajurveda
(B) Samveda
(C) Atharvaveda

(D) Rigveda.

The East India company

established its first factory in

India at :

(A) Ahmedabad
(B) Madras

(C) Surat

(D) Pondicherry.

The Arya Samaj was fouaded
by :

(A) Lala Hardayal

(B) C.R. Das

(C) Swami Dayanand Saraswati

(D) Govind Ballabh Pant.

PTO



' .nt generally
103 The Musical instrument 8 |

~ b + ﬁ’;‘;‘ am o
103, IR GEA 1 HEA d to Amir Khusrou Is

75 & fag gw fem S 27 attribute
(A) &9 (A) Rabab
(B) T (B) Sarod
G S (C) Sitar
A (D) Veena.

104. fova & =gAam au 6@ T&EAA % | 104. The lowest rainfall in the World

is recorded in the desert of :

™ H R T

(A) 3TCThTHI (A) Atacama
(B) SHTTET (B) Kalahari
(C) faa (C) Nubian
D) wem (D) Sahara.

105. WHE § IW AT W & 9 | 105. Approximate height of Ozone

AN 2 layer above the ground is :
(A) 40-60 oAl (A) 40 - 60 k.m.
(B) 60-80 fe.H. (B) 60 — 80 k.m.

(C) 70-100 f&.H.
(C) 70 - 100 k.m.

(D) 100-200 T4

(D) 100 - 200 k.m.

J-2105-Series-A (32)



1 06.

107.

108,

T
i d"‘zmﬁ-Series-A

(A) 90
(B) 180
(C) 360

D) 280.

A e e 8 ® feg
T W feem 22

A) foma

(B) gm

(C) &t

(D) waers1|

106.

107.

108.

(33)

Merino is a species of
(A) Fish
(B) Goat

(C) Dog

(D) Sheep.

The number of lognitudes

are :

(A) 90
(B) 180
(C) 360

(D) 280.

The ‘SALAL’ project is on the

river :

(A) Chenab
(B) Jhelum
(C) Ravi
(D) Sutle;j.

P.T.O. -



109.

110.

111

' J-2105-Series-A

frer § @ F-d B @l FEA
T 8?2
(A) SO

(B) Hahl

(C) Frwat
(D) TR

(A) SIdHME
(B) Ir=

(C) Hvag
(D) aTEN

109.

110.

111.

24y -

not a Kham\f

Which 18
Crop’

(A) Jawar
(B) Maize

(C) Ground nut

(D) Wheat.

Ganga river .............. does not flow

from :

(A) U.P.

(B) Bihar
(C) Haryana

(D) West Bengal.

Bhabha Atomic centre is situated

at :

(A) Calcutta |,

- (B) Trombay

(®) Mumbaji

(D) Bangalore.



| F AT qu
3} &

(A) g

(B) T&=T &1 §y

(C) d-¥H

(D) THTHF FEHN|

113, ®feUM W WA w1 weEE fao

2

(A) =BT 368 H
(B) 31T=®T 370
(C) 3T=®% 352 H
(D) =g 378 HI

o

14, S S R A w1 e fe
a2

(A) THH, T
(B) sit.=i. faos
(C) TaME HTEH!

(D) ITF G4l

J-2105-Series-A

1 ;
12, India has been described by the

constitution as

(A) A Federation

(B) A Union of States
(C) A Quasi-federal

(D) A Unitary Government.

113. Provision to amend the

constitution is provided in the :
(A) Article 368
(B) Article 370
(C) Article 352

(D) Article 378.

11’1. Who gave the call ‘Back to
Vedas™

(A) M.K. Gandhi
(B) B.G. Tilak.
(C) Dayanand Saraswati

(D) All of the above.



116.

(C) 59 291 &% fasg AU

D) =8 ¥ HIE Tl

117.
(A) Product
(B) Production |
(C) Profit

(D) Promise.

J-2 105—Series-A

GDP. ¥ P =1 & g ¥ :

(36)

115.

116.

117.

Imperialism means :

(A) Expansion
(B) Exploitation
(C) Colonialism

(D) All of these.

Citizenship 1in India can be

terminated during :

(A) During Emergency

(B) During War

(C) When the country is facing

and aggression

(D) None of these.

In G.D.P. ‘P”stands for :
(A) Product

(B) Production

(C) Profit

(D) Promise.



118. W&Tﬁm&uagt

(A) R W
(B) HIomH ®

C) wg®¥ o
(D) w'EfaEy )

9. 9TEH 98 #t g w2 .

(A) it &
B) HIt TR T
(C) T #

(D) smEten H|

120. 9Ra ¥ w@ui fagw G @ @@

ggH ST Al
(A) F-UTh
(B) w4

(C) T«
(D) =iel

J-2105_CQories-A

(37)

118.

119.

:120.

Black Pagoda is located at -
(A) Khajuraho
(B) Konark

(C) Madurai

(D) Mahabalipuram.

Lord Buddha died at : -
(A) Lumbini

(B) Kushi Nagar

(C) Gaya

(D) Ayodhya.

First kings to issue Gold coin in

India :

(A) Indo-Greeks

H(B) Mauryas

(C) Guptas

(D) Cholas.

PT.O.



121.

(C) gg @it

(D) #9 A

J-2105-Series-A

SECTION-IV: GENERAL AW

e @ ° @ ® WY dwRe | 121
gk fee frge fea T 8?
A) frdw == 94

(B) R, T

(C) g1 urd Hiferdh
(D) dh.uh. facas|

(A) 1909

(B) 1911
(C) 1913

D) 1917.

i A B
W%:
(A) =Tqa Sl

(B) e 4ol

(38)

122.

123.

7 ARENESS

4 as the first

pointﬂ
or of Ladakh

Who is aP

n
Lieutenant Goverl

recently?

(A) Girish Char}dra Murmu

(B) R.K. M- thur

(C) Satya Pal Malik

(D) P.S. Pillai.

In which year Rabindranath

Tagore won the Nobel Prize in

Literature?
(A) 1909
(B) 1911
(C) 1913

(D) 1917.

Sanskrit language is also termed

as :
(A) Amrit Vanj
(B) Shastra Vani
(C) Mridu Vapj

(D) Dev Vani.



1‘ 24,

123,

126.

. J-2105-Series-A

aEEl WH N o -
27

(A) Tat

(B) HOqS

(C) =A™

(D) Iq

Wmmq}ww.,
ERIECIEE U S I ce—
EEICRIICOR G TICTa oot g
T T R I A )

(A) @ Sfed Hamer
(B) S HATE
(©) v wfw Harer

(D) @W=3 S #HAE|

2022 FT FOAdCY Bell H AN
w8 foa smom?

(A) T&
(B) s&aa
(C) Tanel

(D) =fEal

124,

125.

126.

(39)

On which river Bhakra Dam i8
build?

(A) Ravi
(B) Sutly;
(C) Beas

(D) Yamuna

Central Govt. hag framed a new
ministry by merging the two
erstwhile ministry of Water
Resources and Drinking Water

and sanitation. What is its name?
(A) Jal Jeevan Ministry

(B) Jaldhara Ministry

(C) Jal Shakti Ministry

(D) Swachh Jal Ministry.

Where will  the 2022

Commonwealth Games be held?
(A) Peru

(B) Istanbul

(C) Rwanda

(D) Birmingham-

P.T.O.




o = AR AE A &

am @ ufag 27

127.

(A) HAA =
(B) #fuq =7
(¢) Trgam =z

(y frm wEd =T

128, S AR BgA wAM A dzam #@A | 128,

F F FT FOTEN 2
(A) Tfeed #TaET

(B) wfra awat

(C) FTUrEn ATal

(D) &34

129.  FeE-fomen wmr o | fefafaa | 129

g #wH W g wam a7
(A) AT
(B) #ifz

(Cy am 24

(D) FEATT

J-2105-Series-A (40 )

197, Which of t

SEES 18

he f(,ngwing pa

o ”d(?“'“ﬂ
famous 28 valles

(A) Kunzufl Pass
(B) Rupin Pass
(c) Rohtang Pass

(D; Pin Parbati Pass.

Lake Chandratal was called by

Chinese traveler Heirun Tsangas :
(A) Lohitya Sarovar

(B) Sheet Sarovar

(C) Karmakhya Sarovar

(D) Heiuna.

Which of the following is the

longest railway tunnel in the

Kal o B - |
ka-Shimla railway journey?

(A) Barog

(B) Koti

D) Salogra,



po. TE AE F@m e R
(A) FHT H TH F
(B) TR ® TF ©E FEA
(C) e Hifaw

(D) T gfag mfier

131, f@@ W = TR el w1 ogfa’
ff wE W@ R?

(A) AT
B) fwide
(C) T7H®

(D) wiferEn

132. 99 9 & ©1 9 w99 o
o (9 wiEm w12

(A) =T
(B) g
(C) =

(D) TRy

J-2105-Series-A

(41)

130. What is ‘Lady of Keylong”

131.

132.

(A) A type of goat
(B) Special Crops of Lahaul
(C) Social Worker

(D) A Famous glacier.

Which country is also known as

the land of thousand lakes?
(A) Angola

(B) Finland

(C) Denmark

(D) Croatia.

With which country India shares

longest land border?
(A) Nepal

B) Pakista;l

(C) China

D) Bangl?}&esh.
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Fve W e o e ftee | 133,
#1owg wger wd @0
) EY
B MR
() |
M Wl
e o A wl o e A | 134,
wiw & o wigg en?
(A) TaETEs
(B) 4ia
(©) =TT
(D) W
gedl ¥ R Wl & we ferm |35,
3
(A) 9@ 9 geegfd
(B) ¥ | WA
(C) g4 a V&
(o geeafa @ wfq
(42)

L N For PP T e . S T3

SESET R WIR AT AR ORI SREEATEE T

Which one of the following is not

a permanent member of UN
17?2

Security Council?

(A) Russia

(B) India

(C) China

. (D) France.

Which of the following dynasty

was famous for Haval Power‘?
(A) Satvahéna

(B) Chola

(C) Chalukyas

(D) Maurya.

The Earth is located between the

two planets :

(A) Mars & Jupiter
(B) Venus & Mars
(C) Mercury & Venus

(D) Jupiter & Saturn.




136.

e 105 Series A

q{qm%@m@ﬁ?aﬁmﬁx

(A) 10 ¥
(B) 12 Eré
(C) 14 e

D) 16 =

T 7Y ¥ few <swRd w

IUIEA H T R?
A) T
B) T=

(C) gm
(D) FT=E

e @ B e
(A) foeit

(B) #rem

(C) werfer

D) =feror srwtam

(43)

136.

137.

138.

How long is a day at the

Equator?

(A) 10 Hours
(B) 12 Hours
(C) 14 Hours

(D) 16 Hours.

Which God/Goddess is worshipped

in Gayatri Mantra?
(A) Sun
(B) Indra

(C) Durga

(D) Saraswati.

Which country has three capitals?

(A) Chile

(B) Canada

(C) Malaysia

(D) South Africa.

P.T.0:



140.

141.

J-2105-Series-A

Ffy @y wnfrg €
(A) SR

B) feadtzmg

(C) T feeet

(D) 3T

g o ¥ fww tw w1 ST
femdt” i 27

(A) T TS

(B) Eﬁf? EIREIERIES

(©) s

(D) =gl A

T A9eE T T WEL AE W

1 yfag dfe fae e
(A) &2 90
(B) W4 #iH
(C) TaE wiE

(D) faferm agdad

139.

140.

141.

Kirti stambh 18 Jocated at :
(A) Jaipur

(B) Chittorgarh

(C) New Delhi

(D) Ajmer.

Which Gas is used in Soda

Water?

(A) Carbon Monoxide
(B) Carbon dioxide
(C) Oxygen

(D) Marsh gas.

‘The child is the father of Man’,

this famous live was written by :
(A) Lord Tennyson
(B) John Keats

(C) Robert Frost

(D) William Wordsworth, -



142, A e H o fo HITahT) 142 Which revolutionary died in ap

Indefinite hunger striker during
g 37 the freedom movement?
(A) S =™ (A) Jatin Das
(B) GERM =T (B) Khudiram Boge
(C) Fersd

(C) Sukhdev

(D) T\ 9 fafaga) (D) Ram Prasad Bismj]

143. @ﬁ?&ﬂfﬂ@féﬁ?ﬁw

143. Which Guru of Sikhs s Guru
7 Arjun Dev?
(A) T (A) Second
(B) dre (B) Third
C) Tt (C) Fourth
D) T (D) Fifth.

44, =1 9 | o9 vk B fon e | 144

Which one of the following produces
3 I w22

Vitamin D for body?

A) B (A) Liver
(B) w=ren (B) Skin

(©) ﬁ;tﬁ@ (C) Lungs
(D) 9=

(D) Stomach.

- P.T.0.
- J-2105-Series-A (45)



R o bty i~ TR BRI e s L o e SanCL TSt A o g e

126, S wd F fra R 92
(A) 12
(B) 15
(C) 24

(D) 26

147. fwereel wwTfaa 8
(A) fagi =1 9U%
(B) geiw fa=Al &1 wuw
(C) fewel =1 qUE

(D) TR ® HUE

J-2105-Series-A

(46)

145.

- 146.

147.

What is the Chemical name of

Vitamin C?
(A) Citric Acid

(B) Ascorbic Acid

“(C) Thiamine

(D) Tartaric Acid.

How many Tirthankaras were

there in Jainism ?
(A) 12
(B) 15

(C) 24

(D) 26

Philately is relateu to :

(A) Collection of Coins

(B) Collection of rare paintings
(C) Collection of stamps

(D) Collection of Stones



148. ﬁw-méwﬂﬁﬁﬁmm

149.

A

H B2
(A) frefidig
(B) faq

(C) el
(D) \fE

Wmmﬁé

(A) dHeEg
(B) &

(C) smifewr

(D) 3y W=yl

AR § 3TN ETE &1 J[EAA &1
oft

(A) 1958
(B) 1955
(C) 1964

(D) 1961.

- J-2105-Series-A

(47)

149.

© 150.

148. Which Country gives Magsaysay

award?

(A) Philippines
(B) Britain

(C) New Zealand

(D) America.

Mohini Attam is a famous dance

form of :
(A) Tamilnadu
(B) Kerala

(C) Odisha

(D) Andhra Pradesh.

Arjuna awards were introduced in

India in :
(A) 1958
(B) 1955
(C) 1964

(D) 1961.

PTO:
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